
3− 2− 1− 0 1 2 3
 (PCA to beamline)ΦTP 

0

0.5

1

R
at

io

8−10

7−10

6−10

5−10

) 
(c

m
)

xy
 dδ(σ

3− 2− 1− 0 1 2 3
 (PCA to beamline)ΦTP 

0

0.5

1

R
at

io

8−10

7−10

6−10

5−10

) 
(c

m
)

z
 dδ(σ

3− 2− 1− 0 1 2 3
 (PCA to beamline)ΦTP 

0

0.5

1

R
at

io

8−10

7−10

6−10

5−10

) 
(r

ad
)

φ
 δ(σ

3− 2− 1− 0 1 2 3
 (PCA to beamline)ΦTP 

0

0.5

1

R
at

io

8−10

7−10

6−10

5−10)
T

/p
T

 pδ(σ

DQM_old

DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO


	Contents
	Page 1


